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A1 Awy 2zt 33 93 @ A9 (Nomenclature of front panel)
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2726 25 24 23 22 A 20 19 181716151413 12

1. A% (Display) 15, 7|2/l 9] 2] M= 7|(INCR/ABS selector key)
2.2 A W=(axis lamp) 16. ZH4t 7] (Subtracting key)

3. & 2 F|Axis select key) 17. 8|88~ 7| (Reference key)

4. %2} 7| (Number key) 18, 7H4t #](Add key)

5 #2 Z|(Zero key) 19. 7|5 7]{Function key)

6. Z2|HE 7|(Preset key) 20, A §/9t2]F W=(DIA/RAD lamp)
T. 2| ME 9l F|(Prest recall key) 21, g8 A YW= (Reference lamp)
8 HFE2% 7| (Circle key) 22. 7% ¥ =(Function lamp)

9, %% H3 F|(Reverse key) 23. A%] y=(5tep lamp)

10, thE 7|(Next key) 24, INCH ¥ =(Inch lamp)

11. % 7|(Enter key) 25, R (Model name)

12. #4245 2]( Power switch) 26, %A 7] YWZ(EIM lamp)

13.MM/INCH 41%] 7](MM/INCH selector key) 27, Bct$]2] TWIL(ABS lamp)
14.1/2 2% 7|(Half divide key)



A2 wjHy z 2y w3 @ M9 (Nomenclature of rear panel)

T38| ol Warning)

F= 9 My FHE({Fuse and power source)
H7 2 Ground)

~#A49 #H& Z9E(Scale connecter)

O e




#A3%F. 5% ¥ % 71¥ M4 (Operation and function)

1. 71 % Z{Basic operation)
b #e FME 7 23S #oh(Key operating procedure)
O 7l5E dYstAY £= 7tEEe s & A9 (select Function or axis)
@ 715 dudtct(select Function)
@ 128 #£A5 98 &0 (Enter Number)
) $a 718 F&ch(press ENTER kev)

@> 7 2y @ H A|(FND)

2. 34 44 7]'5(Preset)
4oy A E SlEet A & Ffoh A HolE dALHoR HFsiya ¢ H4e
AbE gk, (use this function when vou wish the process of definite length
continuously)

7] AR & oh& 3t #ohiln case of X-axis)

&)

of ) gjelo] £at "1234507% UHE D o] L @LMo rpEapaa ol

718§ [working point] P T 2 [work piece]
YK [ ® - #
|
123.45 123.45
¥
bl
<ag 3-1>

"123450°9] 3 F YHPch(Enter “123.450" )

xIEEIC 24 (5] e X {23450

) &>




3. 54 d3ste 7|5 (Preset recall)
Qloje] £AE YH/7IAA AE Bl dEez Agdtund F Hfe 2es
7l 5ol

7] AlE w9 e oh2g Pcokiln case of X-axis)

B3|+
)

A8 g RE& ATEAM “12400" BHoE i & HEE s @
Ex) In case you wish to make 3 holes with the pitch space of 12.400

718 |working point)

T}  [work piece]
W
/& * ® - #
L
12.400 * 12_400
<1d 3-2>

*1240078) 38 Y ¥#ch(Enter "12.400" )

IEIEILHLJI;JLUI&TJ X 12400

&g 25 Wk {Recall Entered Number)

[x ][R X 12400

Ly e

ol da o] FA AAYR e E ol 5 ASHeR AREL.




4. XA F A2 7]5(Display zero)

X%, Y& Z$4 2 "0000"S R SHY 35 HAE @ "0000"22 smal € FH 4

o)k (In case you wish all axis Zero or each axis Zero)

7] AbE Wi 23 Fohikey operating)

[(x][x]

%3 Zero(0O0M= & A ol #Fohiall axis zero)

i
Loy
Y o000
Z 0000
@D 2} & ZerolDOODIZ & HE 37 Pd(Ydala § 2) (one axis zero)
oool

B X
5>

5. 7Ht 215 (Add)
A dagdolsli e dddM dele FAF datnx g Ao

7] AbR w2 g ) (key operating)
[x][+]nus

%




45) X3 “123450"22 #4522 e Aol “13000"& dEiaz g
Ex) In case you wish to add “13000" on present "123.450" of X-Axis

Xxao| #A “123450° 07 EA i) soiele A —0 —— X 123460

“13.000"e] RE 7Hibksic

I 103 ] [ew] X /36450

Ly E)

6. 4 71 (Subtraction)
HA daFaolxn gl Aoy dele FAF WAl Yo ALR$cl

7] AbE H9ie ohg3 Pohlkey operating)

[= |==ee et

...........

&) Y&el "327450"2 2 HAE D sle AEielA “14000"8 w2} @
Ex) In case you wish to subtract “14.000" from present “327.4507 of Y-Axis

Yo #A “327.450"2.2 EASe sHejsls A Y 327450

A0 R A AT

Ly J= 100 ][4 J[ew] Y 3/3450

Ly E)




7. 1/2 % 715 (Half divide)
@ e oo AWPIZ clFdE o AT clFAHY FYAANE ¢nz o s}
FUHA S AFutna; def Ap g
In case you wish to know the center point of the moved length when you mave from
one point to another point.
71 AHE e o g3 #o.(key operating)

[x1[4]

[®>

A4F) T FHANA "12400°2.% ol FEAE W €A ol FAYANMN FYHAZ oS st
E FE stz $c
Ex) wish to process hole making after move to center point from present point when you
move to “12.400" from one point.

XZo| 4 “12400"22 EA5o 212 AS X 12480

] Ll
(present position is “12.400" in X-Axis) |I

@A A= s 3L % Eeed
(Divide Half the value of present displayed)

[x ][] X 6200

Ly &>

B. MM/INCH ## 7| % (MM/INCH conversion)
T3e] @9 E INCHR $ AL8%ch(When “INCH" lamp is not on, it is on "MM" )
INCH 71§ v27 942 4H(INCH lamp?t 552 @& 4= MM ©9elch
MME o4 INCH ©912 #2dstaa stede INCH 7|8 F2ch(e] o INCH lamps ON
“deielch) (press INCH key, whem you change from MM to INCH or from INCH to MM)
INCH &8sl MM 92 ¥adsina slej® INCH 718 S2d(o] o INCH lamps
OFF “4Ho]ch)

71 AR W& dE3 2thikey operating)

T R




g 7|&H/4Ad093 #A|/ 7] 5 (INCR/ABS conversion)

s A8 AABS)E ¥ 32 HAdgAEded)2 Fsax ¢ A5 Ap gk (7pEE 9
f£4)

o A H 3 (ABS)E 107173 A4 7H5ech (ABS can be inputted by 10 Numbers)

o )Y AABS) YEw FE 0-9717] 2 5 2o (ABS input Number will be 0-9)

o A3 A(ABS)E =2 ¢2 SH(ABS lamp?} FEHA g2 4d)e J1EHINCR) ¥
e ol o}

e Ao 92 (ABS)E Y29 ABS lamp7t B55 2 Hd93(ABS) 4e & 7tejdd.

o MOl A (ABS)E AFE® AL 7] T A#E: e £ AMEY 5 e FlE
ZERO 7|, PRESET 7], INCH 7%t A% 7tEdln 9@ 7t A 87215 § 3Ad 9
& 7] wi@ch(ln case of “ABS" use, YERQ, PRESET, INCH key is only operative)

1) dd9x 9 99 9 54 51394

7] Abe geie b2 @ (key operating Method)
@ deigl=lel #E Ay (Input ABS Number)

' hed[X ABS mo O

5 B,

Numeral i

Ly E

@ A A2 #2352y (Input ABS Numeral)

Numeral

............. .
[x ] (555 & xi 2 o [ewt hag |X 000
heg | X o000




AE) X% ABS 48¥ 27} 2¢el2 ZERO(D.O0D)E 2% sfolth 2aln & #71x oje
X% 155 94§ Ao,

Ex) at X-axis, AB5 Number is 2 and input 0.000 and 15.000,

ABS $#Z 3% d 2edA “F'9& S &d.(when ABS lamp is ON, press "F" key)

i

[F] @xﬁbS nc O

L) )

ABS Y8 Ecl= “2"8 YA ilnput 2" at ABS)

(2] few] ms[X 0000

LY 2

X&el "0000" £ “1500072 218 g echinput "0.000" or "15000" at X-axis)

@[@ msx 0000

(Y

lse5] [ 1 ][ 5 ][ewt] 89 | X 15.000

L) E)

2) A 93 53 %99 (confirmation of ABS positioning)

7] AR WUy e og3 2o (key operating)

ko) Reg|[X AbS n.o

_____________

L) B

) X5 ABS Y HEs} 2vieln 15§ st AL Yozt o ol
Ex) At X-axis, confirm that ABS is 2 and inputted no. of 15.000

FE ms[X 15000

L) E)

- 11 -
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(1) dAdfAABS) AA(H44) & (Example of ABS input)

o) ABSE 5702 xAste A=A 2dL i @k

(In case of setting 5 points)

ABS 2 ABS 3
(% - 0,000} % 0.000)
[T -0.000) 1" 0.000]
+ t
) 15
|
(% : 18.000)
(7 12.000)
ABS 1 ABS 4
(% :0.000) [ : 0.000)
[t - 0.000) (¥ :0.000) 10
ABS 0 §
(X DU
¥ : 0.000) 10 + 2%
<1y 3-3>

D ABS 0 #IA & #3ss 2y d&3 2c}(Setting the position of ABS

ABS = HEAHAM 0" UEAFG (ABSHIE & AH)
(Under the Lamp “ON", input “0")

[F1[e]

>

"0" )
@ X AbS no O
Y oooo

B

X=n Y& 2Zbzh 0.000" 2 Y gA7 o} (input “0.000" at X and Y-axis)

[x ] e

[ ] fend

)

_12..

%
Rag|X OO0
pes




@ ABS 1 #H8 FH3= e ey Zt}(Setting the position of ABS 1)
X% “10000"2 Y& “10.000"2 ztz} o] E3lef ABS | 9)aj= E{a=3
(Move to X:10.000 , Y:10.000 and then go to the position of ABS 1)

X534 Y& gte] "10.000"0) 552 o %
(Move to X:10.000 , Y:10.000)

ABS #Z HF4ddedM “1"8 dda)zin,
(Under ABS Lamp is ON, input “1")

Le1[]

8

X3 Yol bzt "0000"2 o4& A e} (input X:0,000 , Y:0.000)

[x] [rend

[} e

)

w s

r
X 1LLGo
Y

180068
&)

R8s

X Ab5 no O

iy iaialy
Lo

©

£
&3
3

v
g
E§)< non
Ros||Y
B)

@ ABS 2 #12& AYse Yde b7 Lo} (Setting the position of ABS 2)

YHE& "15000°5HF |53t ABS 2 11 7o)
(Move to Y:15.000 and then go to the position of ABRS 2)

Y& ghol "15000"0H g o) %
(Move to Y:15.000)

ABS #Z S aejolM 278 YA
(Under ABS Lamp is ON, input *“2")

[F][2]

L)

_]3_

X 0060
Y 18000
2

ﬁ X R bS n.o !
Y 0000

E)>




K&z y=e Zhzh “0000"8 g€ AFd,
linput X:0.000 , Y:0.000)

[x ] =

[}

)

@ ABS 3 928 x| Asts A& &3 2o} (Setting the position of ABS 3)

X&& "25000"5+F ol Féle ABS 3 fI= U,
{Move to X:25000 and then go to position of ABS 3)

X& glo] 2S00 HER ol F

{Move to X:25.000)

ABS = HF4dels "3'E dH A

(Under ABS Lamp is ON, input

[F1[3]

43"

)

X&a Y&o zvzh “0.000"E 1Az
{input X:0.000 , Y:0.000}

[x] [

[v]fend

&)

B ABS 4 #1318 A H3e W2 &7 Poh(Setting the position of ABS 4)

Y52 "-15000"9F ol Féla]l ABS 4 22 o)
(Move to Y:-15.000 and then go to positton of ABS 4)

Y& Fto] 15000 HEE o) %
(Move to Y:-15.000)

_]4_

megX 0000
msly 0000
mdX 25000
Y 0000

.
hBg | X ALS no 2
Y ooeo
Ras|X oooo
mesY 0000
X G060
Y -18.000




[F][4]

[ ] fene

[F1[7] ﬁngbS no Y

ABS fiz= FAF4deod "4"F gdgA g
(Under ABS Lamp is ON, input "4")

X A5 no 37

@> Y D.QBE
X&= Y= ZHz “0.000"8 184z, [

tinput X:0.000 | Y:0.000)

3] sl 4000
\‘i
H o2 o] 3 gl APHAE 1070 A E S gl
{ABS can be inputted/setted by 10 numbers)
(2) A9 2(ABS) A (H4) %2 4 & (Confirmation of ABS positioning)
T 9 dEe HAHAE Hola= Wye g g
A <a2d 3-3>¢14 gele 3 P ABS | #1318 #:ch(ABS lamp?t OFF® el 4
del2] H Pl a8 A$)Mn case of finding ABS “1" position)
ABS X FEAEelM 1" geiA Aok (Under ABS Lamp is ON, input “1" )

e

@ Y 0000

X&:3 Y& 2zt “8000" , *3.000"2] ftel B A F )
(shows X:B.000 , Y:3.000 .

ol 43 3ol EAH FAE 00000 HER X&7 Y2 o]F§ic}

A A&} go] SA=H ABS 0~ABS 4747 2tzte] 28 2L 5 g}
(Move to 3:0.000 , Y:0.000)

(You can find the position of ABS 0 ~ABS 4 as you do above)

= 15 -



(3) 3 A4 vz 7|EHE WS AR

(Example of positioning of Sub-Datumn point from Datum point)
AS) aga Pgo] FHAMAM 2= 7|FH(ABS 1-ABS 4) 7L E FAd¥ 99

o o]},
(In case of process 4 Sab-Datumn point (Al-A4) from Datum point)
Y
a4
ABS 4 S1 A
'+' A5
Ag 25
Y e
— X
ABS O
[ - 0.000)
¥ : 0,000 =25
2
e pss
-135 ¥ 35
<4 3-4>

I ABS 0 A& =A%t $y2 i3 #chiSetting the position of ABS 0)

ABS FX HFAYHAAM "0"E YHA UG

{Under ABS Lamp is ON, mput *0")

[F1[s]

@)

X35 Yol zzt “0.000"¢ At

(input X:0.000 , Y:0.000)

[x]feed

[ ] f=nd

)

16 -

red X 65 no O
Y Cooo

"

hag | X Y

2

pes|Y 0088

E




@ ABS 1 #1218 #Ase $¥e 23 ol (Setting the positim of ABS 1)

ABS #= HE4HM "1"2 Mg
(Under ABS Lamp is ON, input "1}

(]
)

XS5 Y5 22t “-350007, “-25.000"8 YAl

linput X:-35.000 , Y:-25.000)

B G0

(v ] 558 (2 1[5 ] [#] [ent]

&>

X ALS no O

Y 0000

X -35.0

£
2

c2
=)

Y 250

@ ABS 2 #A& AAste Wdye g 2o} (Setting the position of ABS 2)

ABS dX FFideies “2"8 18 Az
(Under ABS Lamp is ON, input “2")

[e1[2]

)

X&2 Y&l Zp2t "-35000", "25.000"8 YAl 2o
(input X:-35.000 , Y:25000)

(] 28 (3] (5] o) )

v ](5E5 [ 2 1[ s ][ewt]

)

- 17 =

\*-

pos

X A5 no !

Y ooog

E)

X ~-35.000

pog
-
pog

Y 25.000

B




@ ABS 3 f1a818 AH3ec g2 &2 #oh.(Setting the position of ABS 3)

ABS = HE4Aed A “3"E YAz
(Under ABS Lamp is ON, input “3")

EN

L)

X&a ya&e zHzb 350007, “25000"8 U¥A )
(input X:35.000 , Y:25.000)

ﬁgKﬁbS no c

[x (58] (3 1[5 ] [ew]

Y oooo

E)

X 35.000

[ [E85 [2 ][5 ][ent]

@)

pes
.
pes

Y 25.000

iy

3 ABS 4 #2318 HAses gy & &7 20.(Setting the position of ABS 4)

ABS = dS4dd4 4"E =l
(Under ABS Lamp 15 ON, input “47)

[F]l4]

)

X&3 Yae zbzt “350007, "-25.000"§ A0,

{imput X:35.000 , Y:-25.000)

ped[X ABS no 3

[x IESI[3 ][5 ] [ent]
VEEEE e

Y o0on

)

X 35.000

L)

'-'
pes
5
med | Y

-25.000

E)

<2¥ 3-4>9} 3e|sled ABS 02 ABS 1—-ABS 47}#] =zt A ¥ 4+ gl

(You can set/input the points ABS 0 and ABS 1-ABS 4.

_!E_




(4) 34 HollH vzx 7|78 L B9 o F(Confirmation of Sub-Datumn point)
&) <2 3-4>o4 BE 7FEF ABS 18 #Fiah @i}
@ ABS 1 922 Eedc}t(ln case of finding ABS 1)
ABS = HF4E 4 “1"& 48 A3 HUnder ABS Lamp is ON, input “1")

s

Lellad EXHBS no O

&> Yy  00oC
B>

ha

X5 Yo 2z "-365.0007, “-25000"7F EA|Fe] EAHo
(shows X:-35.000 , Y:-25.000)

peg|X  -3I5000

ly -25800
@ XZF3} Yo zhzt "0000"0] HEE o]F & Fol,

(Move to X:0000 , Y:0.000) W

X#3% Yol 274 000" H£§ 1F  ——— Ragd|X 0ooo
(Move to X:0.000 . Y:0.000) '
Y oooo

E)

# «dEE& ABS 1 #1Z& #2 ol ABS 2~ABS 471x & WyYe= F3sio] ztz
o HAE A& 7 U9 ada ¥E 7IFH ABS IelM ABS 1& 7oz %3
Al~ABE H9¥ +7 U

{You can Recall/find Sub-datumn points and can go to any position which you want)

10. 71% F1{Function key)

7157 o&n o] 87129 75 & Al gld

{ "F" key has following & kinds of function)

M ZA% A= 7 F(Display zero)

@ =z 44 ¥ &2 7% (Memory infout)

@ W22 44 7]%(Memory clear)

@ 98 (Radius/Diameter conversion)

@ HF 2% 2 ¢35 2% d AA 75 (Circle parameter change)

_]g_




® & 44 WA 7]%(Axis direction change)
@ 44 #4 7]E(Rate)
@ BEA% M= 75 (Display check)

1) B4 A2 7] %(Display zero)
BEARE 42 752 Page 78 Fdsd

2y viza Hd3y 9@ 89 7] %5 (Memory in/out)
718 F2AF vlg] YgAF L o) F olgetd dF YL e ARl ARREch
7t &g Jel(vfral) A" £ 9e AsE 9ol o (Maximum input memory per axis

is 99)

al dxaElE 43§
7l Abg W& o337 grolikey operating method)

[F]lx] XFurme no

L 1] 0 ][0 |[en] XNrY SE¢E
X Add H

_Memory Add.

M2 ol XdJAER ---

Memory data

#xue en] X 00600

L)

E)

(2zx) 713 FAE ALdez dedE dgdsina o9 vize $£3 48y F NEXT

Note

718 2¢ FEQ AFHLE off UAE Zl7A He o8 vz 9

Ao 2@

At 71dAd 7 A a=x gl ° #d Fol= ¥ ENTZ|8 52 T8

A #Hof 9.

when you press NEXT key 2 times after input memory data, it shows next add,
automatically and you can input next data. After Completion of input, you have

to press "ENT" key.



VLA E UYX U A% 7] A4 WY e ohga) g,

{In case of Continuous input)

[1 ][0 ][0 ] [ewt]

Memory Add
22l pixigie]
Meinorydata
FHu

o #) X5 ol =22 25% o) 44 “10125"8 A7)
Ex) Input "10.125" on memory address 25 at X-axis,

[Flx]

[+ (o ][0 ] [ea]

[2][5] [ew]

JOICIGIE]E] e

®)

_21_

XFunec no
X/TrY SEE
XAdd /
XdREA ---
X Gooo
X Add c
g

XFunc neo
XfirY SEE
X Add /
XJdAER ---

X 0.000
X 10,125

E)




o &)

M
v 90078 LMoz e gl
Ex) wish to memorv—in “31.31" at No. 31 and

31 A oA

73

"3L3107

s,

L1 i{o ][0 |{ew]

(3100 ] [ew]

| | R 8 5

e (312 ][-J[3][2 ][ewT]

ib) o] 28] #Hel(Memory recall)
slea]e 7leAq 3§ Hold o AgEd
(It is used when you wish to recall number which is memorized)
7] Atg Wy e &7 Frohikey operating)

[FIlx]
(][0 ][0 J[ewT]

Memory Add

......................

feaT]

>

o =22

“32.320" at memory add 32.

Wzl £3

YFfFunc no
YfirY 5E¢t
Y Add /
YdRER ~=-
Y 0.000
Y Add I
YJdAREAR ---
Y 32320
E)

XFunc no
XfirY S5Et
X Rdd !
XdREAR ---
X HHH

E)



af 7)) X% o2aje] 4a “313107] deide] @, 3 m 32HA ] 3232070 YHEA o
ohd 31 g} 329Ale] 7Y e 2le £3AE fel Hnak o
Ex}) wish to recall from memory add 31 and 32

XrAd .---
Y aooo

(1] [0 ] [eT] X 10000
Yd-no

X 18000
YSPR 00

(0] X 16060
YEPR 0O

Ly E>

3) v Abd )5 (Memory clear)
71 A7 HelElE A= d ARG

7] ALE UHe o3t g (key operating)

[F][x] XFunc no
[ 2][0][o][ent] X~ clEARr

@ %> 0000

_23_




XFune no

<Fog> @ 9498 25 Fa(dole)E HalFA H2z ALEA] Fosjol o
B 2¢e] wza Wajs 7IH9E 532 SHuUttE HsAHuzt g Ajeles oRe
44 715 & o4& #igd vizel Wald “0000"(ZERO)E ¥ At
<Remark>@ Be cautious since this function will clear all the inputted memories
B When vou wish to clear only one number inputied on its memory address,
Press usge the function of "Memory-in" and input "0 (zero)" on its memory
address,

4) A& (Radius/Diameter conversion)

eo] 7|2 Mur FhEaga Haz o FEF A EA7F AESDIA) £ HAE
(RAD)2. 2 HAE 5o AR @t

(It is used at the processing of LATHE. When you selest "Diameter” under the selection
of "Radius”, Number will be doubled.)

o A B(RADIA ZEDIA2E EHdE 45 Ay Tadd 2602 Fl3EEA Ho
7 Foj8t7] vigolie] A E DIA lamp?t EEEHD)
(It changed from radius to diameter, displayed number is doubled.}

<F2> A FIRAD) YH=E AFL HMEse FadA HEZ ¢ 7l5& AE 8 AS
off = F=2E #ferFcl (DIA lamps OFF4E])
<Note> product is originally at "RAD" situation. DIA Lamp is OFF.

7| AbE e of2 ok (key operating)

L4 ][0 ][0 ] [ewt] XrAd  ---

DIA deﬁ ooy

XrBd  ---

BLE B M
<




AE) S8 AHelM XF @tol “B0"eE sHolgle Hee NGoz W3E &
O 27ig o) Tl e o

EX) In case X:33.580 at "RAD" , when you chanye to DIA value will he doubled.
X 33.560
I_T_l XFunc no
E @ E XrRd s
\*f

@ ]nu Xd:A ---1
ENT X 67160

5 95 #¢ 9 9F #¥ % W3 7% (Circle parameter change)

45 £¢ & 974 7152 G2 vol 479 A5 g A 9o,

DT 288 X, Y322 43¢ (In case of setting to X,Y axis)

2 U5 FUL X 7223 HAH(In case of setting to X.7 axis)

@ T FER Y ZFo2 4490 (In case of setting to Y.Z axis)

@ 9F ¢S ASDIA)YSASRADISE 98} (In case of setting to DIA/RAD)

(1) 95 $98& X, Y322 H3(In case of setting to X, Y axis)

7] AR & g2 ) ikey operating method)

[(Fls][@][0] s4:[XFro 500
@ % [YC e P:qr‘ﬁ
z 0000
E@ *%E Xc H"CLE
[®> s4:YPA-A SEE

N

0000
0000
0000
z 0000

X

<




9js} ko) 3§ CIRCLEZ|& 249 X, Y& AW Lamp’t 59
{when you press CIRCLE key, XY axis Lamp is ON)
Ho £ F855 100000 ch(Max divided no, is 10,000)

ohg 2 o) WY YFEYL G F A F& 439



(2) 95 298 X, Z52% H3(In case of setting to X 7 axis)

7] Abg w2 cofgat g

LF][E]e]T] s%uzXFro 601
@> %=[Yc .- PR-R
z aooo

[eT] %%E Xc irct &
@ Y S
~%z|ZPA-AR SEE
X 400G
Y L0800
z 8000

E)>

#=t e &9 CIRCLE 718 29 X, 72 24 Lamp?} @59}
Holl ¥ F&55 10,0000,
{when vou press CIRCLE key, X.Z2 Lamps is ON. Maximum divided NO, is 10,000)

oF 29 go] fFEEE ¥ 7 UA £& e

Z

A e ——
FRONT




(3) 915 8L Y, Z5 22 4% (In case of setting to Y.Z axis)

A Apg g & £ 2ok (kev operating method)

&
e® o0

[H

e ® o @

=]

M

XFno 602
Yec .~ PAR-R
z aooo
X Gooo
Ye irclE

ZPR~A SEE
X ooo
Y 0ooo
z 0008

E)

#e} #e] 5} CIRCLE 718 ¥ 24 Y, Z& A& Lamp?t Y5 Hh

HAd £¥ FEFE 10,0000k,

oE 2E el AFEEE € F A 2E dAE

z / /
;'r 7

/ Y4

ki
FRONT




(4) 97 2% =248 39 ASDIA/SAES(RAD)OZ WA 4

(Change to DIA or RAD)

7] AbE e o&9 P (key operating)

[Flle][o][3]

Ly

ENT

2 ® g @
I

I

B

)

£ M
ol ® o @
K

K

@ AR 33 o] EAEW 2B (DAL 2 HE5 Holc),
(If display shows as below, it is setted as "DIA" )

=

wls
i

.
59

o
54

IH

XFno 603
Yc .~ PA-AR
z Looo
Xec ircl €

Yd ANEEE- ]
Z aaoo
X 00|
Y o060
z 8ooo

E)

XC.r ;H =[Eea
Y oooo
z o080




@ ®ASel o2 o] EAEE B F(RADI2Z AHE Aol
(If display shows as below, it is setted as “RAD" )

E) S
#QE Xr'ﬂd .

pred
@ £%:[y 0000

z T

oAbz} o] 13 Beg #HurtEte 3 AE(DIAY/HAES(RADIE Mdstns 45
2348 s Ak AE F2AE HASRADVIHEZ MEEY U4,

(5) 95 2% 7|5 (Circle divide)
gjelg 7|2AE F4cE HUF FUL 8 F5o AR
3 1ge sad eI 2 473 ZEE B2 AFH Folopwd
D A r (F= AF d)
@ ®ir d-no
@ #¢ A2 Sph
@ &% HE Eph
o5 2o Hd AHe g g
@ w2 § r £ AF d : 9999.99%(mm}
@ 2% d-no: 9999 FE
@ Hzxz AF: 254 A=A A
o) 1054 — B 265 — %
- It is possible to operation of the circle divide satisfyiong 4 conditions of radius "r"lor
diameter “d” ). No of divide "d-no" , divideed starting angle "Sph” , divided last
angle "Epf" .

- Maximum rating
@ Readius “r" or diameter "d" : 9999.995(mm).
@ No. of divide “d-no” : Max. 9999,
@ Starting/Last angle : Possible under first decimal point.
Ex) 1054" : % 286" O




7] A8 wyl2 &3 #rhkey operating)

beod (WX (1) T= RS (4) 2] [eNT] Xd A .---
Y 0000

........................

[EE2(dn) 2 X 8000
Yd-no

(EEHE2 () Be X 0000
YSPhR 00

....................... -

(HEAE (Eh) Ee X Goos
YEPR OO

Ly B

<3F2|> @ CIRCLE 718 ¥2¢ A3¢g & Lamp?t 58
m AEor AHEN oW FAM 4diavl EA A
® A Feoz 2FPEo gled HARH rAdst ®£4] o

<Hemark> @ Before key input, please select Radius/Diameter by the function of “circle
parameter change” of "F" function. When you press "CIRCLE” . Axis lamp
15 ON.

® In case of selection of diameter, "diA" shows on the display.
® In case of selection of radius, "rAd" shows on the display.
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A&1) P2 i) = 10,0
HEr(d-no) = §

Ex} Radius (r) = 10.0

No of divide (d-no) = 8§

T {2 = 0.0

Starting angle = 0.0°

U {FH = W0
245 2¢ A4 2 -1 v3

Last angle = 360°
In case of X, ¥ axis

7

7] U8 $He g3 Prh(key operating)

[1][0] [ew]

Lo ] [ewr]

XrAd .---

Y oooo

X 10000

Yd-nrno

X 10000

YSPr OO

X 10000

YEPR OO0

E)



[3][6][0][ewt] X 18800

Y o000

L) E)

X&3 Y& & zhet "0000"e2 o/ &4 Hw My 4 Fuifo) @
(when you move until X : 0.000, Y : 0.000, it will be 1st hale

peex] e X ~28 35

Y 070

L) g

X% 3 Y2 & 22 “0000"22 ol%ehd HW % 8 FuEo) gt
(when you move until X : 0.000, ¥ ! 0.000, it will be 2nd  hole)

oexcr] poext] X ~ U]
4 2830
X33 Y5 22 000022 o B84 59 A o 72ge] gch
(when you maove until X @ 0.000, ¥ : 0.000, it will be 3rd  hale)

eexc] ot X -5
Y -2930

L) )

X527 Y53 212 "0000"22 ol 534 g9 vl A 79F 937 g
(when vou move until X : 0.000, ¥ : 0.000, it will be 4th hole)




== X Ut
Y -8070

®) &)

XZ3 Y& zhg 0000"e= ol E8tA =w oAy § FHF H3s 4db
(when you move until X © 0.000, Y ! 0.000, it will be 5th hole)

x| et X 2935
Y -30°70

"> g

X&) Y22 212 "0000" 2 ol E84 =9 o4y 4 FE fas o
(when vou move until X : 0.000, Y : 0.000, it will be 6th hole)

pucsc] puex X 2075
Y -2930

®> E)

X%z Y28 242} "0000"c 2 o) Fa = 439 A +HE f=z 2o
[when you move until X | 0.000, ¥ ' 0.000, it will be Tth hole)

peexcr] e X 1075
Y 2830

®) E)

X234 Y2 & 42 “0000"e2 olFatd g4 o6H A A& $37 do.
twhen vou move until X : 0000, Y @ 0.000, it will be 8th hole)

<Fo> HF 3 lEe A A $%e 2 Fot Pdh(process coumter-clock wise)
EY #H2Ze] 00" Bt & Uclz B8 EHY 360" ¢ F9 B2 JFLL b go
Astech (2, #8 HHZel 360" Brh A2 glo]H o fejr})
BE HFL - B AN 360" ) + BE H22
<Note> If starting angle is .higher than 0.0° and divided angle is 360" , Last angle
is calculated as follows : But, If divided angle is less than 360° , it is exceptional
case
Last angle = divided angle( 360" ) + starting angle




AE2 ) FAEG) = 200
T8 (d-no) = 8
% HZZHSph) = 4507
¥ 3T 2H(Eph) = 3600" + 450°

(T8 HF = 5¢ 42+ 29 Hx2hH
{Last angle =divided angle + starting angle)

7] A8 Wye 923 Pohlkey operating)

divided angle

[2][0] [ew]

8] ew]

[4](5] [Ea]




(4] [0 ][5 ] [ew]

@-ﬂx

)

X&d va&e zhz “0000"2 2 ol Fatd = AW A THE X7 Ak
(when vou move until X : 0.000, Y : 0.000, it will be 1st hole)

= X  -14.140
Y 5860

L) E)

X2 y&g zzb poo0'c s ol Ead =W 59 A A& x4 Ao
(when you move until X ¢ 0.000, Y : 0.000, it will be 2nd hole)

pex] pex] X ~19Ep
Y -5860

® 7

X&) Y28 zZH7} 000022 ol B8 = AW A FHE #3)7} fid
{when vou move until X @ 0.000, Y : 0000, it will be 3rd hole}

eex] puexc] X - 5850
Y

g

X&3 Y24 zHz 0000 "2 o|F&hA =HY JiH A 7HE 27 H
{(when you move until X © 0000, ¥ @ 0.000, it will be 4th hole)

pcx] e X 5860
Y  -/440

L) B

X574 Y& 7h7 “0000"22 o) Fa A S| oAl A 79E 947 g
{when yvou move until X:0.000, Y:0000, it will be 5th hole)




pr] |

[®)

X I 190

Y - 5860

8>

X3 Y& & 2h2t “0000" 2.2 olFekA s oA A PE f27 Ao

(when you move untl X @ 0000, Y : 0.000, it will be 6th hale)

e ey

®)

X 14 140
Y 5860

Bl

X33 YS& 22 "0.000°2.2 ofFats HW dFy s 7HE f7 foh

(when you move until X © 0.000, Y © 0000, it will be 7th hole)

pem ol

®)

X 5860

i 41490

E)

X&% Y&E 27 "000"22 ol F8tA 9 o6y A FHE 8137 g,

(when you move untl X @ 0.000, Y : 0.000, it will be Bth hole)

6) & W% WA (%% Ba WA 7% (Axis direction change))
1% 29 R35E wAs A 9o e

iIt is used when vou change +/- direction of axis)

7] AH8 B2 o g3 Zo)ikey operating)

[Fx]
[8](o ][0 ]

e

[Ewr]

>

XFunc no
Xdur
Xdir ---4
X 8ooo




7) ¥& 34 7] % (Rate).

D 71229 vE&e 43 dizie] Yste ¥ Eo] o BAY 5
@ 2" ARG 4§ et
@ Ll 8ol Me] ¥& L 1.0000000]
@ RATE®S 43 ¥sE 0000001504 99999997h] o= 23 642

7Ale AUEE FEH

D Display according to magnification vou require against actual length.
@ Can be applied to use rotary encoder.

% Usually, Magnification is

*1.000000"

@ Allowable range is from 0.000001 to 9.999999 and also have accuracy under 6th

decimal point.

7] A Wyl e o2 ok key operating)

[Flx]
(9][0] (0]

premmm———aaa

XFunc no

(e

ENT

%

(Ze]) RATE 0¥ Z4s EA%o] A5&a goens S48 3,
{Note) In case RATE 0 , Display panal do not operate.

X-rAREE SEE
X 1006060
X 0ooo

B>

o ¥) XZo| RATES 1.000000e 4 152 W7 sle] AL4std A Im/mel¥& Al 15m/m=

#EAE

Ex) If you change RATE value from 10 to 1.5, actual move of Imm shows 1.5mm

at display.

[FI[x]

[9][ 0 J[0 |[ewt]
G- 0s]

&>

XFUHI‘: no

XrREE SEE

X 5800000

nn
x oo

E)



g 24 B E oG58 £ (Rate compensation method)

A C Aetual length
M : Measured length
C ! Compensation rate
dZ1) 44 Az 100mmeli 33 Hde 1004mmY o 8|& 23L& &5 2o
100 _
100.4 ~0-9%
Ex) Actual length @ 100mm, Measured length : 100.4mm
compensation = Tﬂlgli =(),596

A E22) 44 Adds 100mmel? $3 Hs 9.9%mmy o 8§ 132 oS g
_100 _ " - 100 _
99.98 1.0004 Cﬂmpgmanﬂn— 99.96 = 1.0004

8) ¥ AY 3= (Display check)
AT ciFee]He FNDIAE 4ae)g dasid B3 gopdd,

7] Abg #dle 983 24,

LFI[5 jlo]o]

[®>

11. AH A~ 7] %5 (Reference Key)
Tzl Hd = delo] AfE o ZFdalsl mE2n |eg 229 lrgas
il s HE F el AU,

A B2 2o FME AR P

O =44 e 7192 21 ch(Memorize reference point)
@ 719211 3 & 2 dc)(Recall reference point)
@ 7tE¥H ez olF ¢ctiMove to reference point)




1) 7125138 & 4% (Memorize reference point)

g & 7hg9d M3 =4 o)t key operating)

D 74 dE 71927} (Memorize reference point)

@ ddHA( @) 718 2t (press reference key)

@ % PE(LED)? H5Y wWrta] AFHEL 7P 9% K& 9EXOE ol Fodh
(Move right or left until axis lamp on)

@ PRESET?& F&thipress preset key)

o F) A4 X229 AAEdde] "0000"0)%E of MinALAgE olfel FAHE 7Y
RS

Exl Memonze reference point of 0.000

i - O

H
/=]
0.000

n -
[&] [X]fzend . Rer] | X 0000

E,

% YE(LED)7 35 wWra 7134 E 7522 4% §2 RERLE o Fd

{Move reference point until axis Lamp will be ON)

0 P .3 "0

t a1
=
0.000  1.235

wES

=9 |X 235

e

% YWE(LED) %A PRESET 7|18 ¥&c (o|d % PX 2} Reference W X7} OFFHt})
{when axis lamp is ON, press "PRESET" key)

q‘%E X I.EBS

L) E)




2) AN E 2= FM(finding reference point)

@ 7tE¥d 232 °l% #} (move to nearby reference point)

@ ANy 2 7|8 ¥ (press reference key)

@ % YX(LED)?t 5 974 7HTHYE 713z 9% F o

(Move unitil axis lamp is ON)
@ PRERCL 718§ % &2d.(press "PRERCL” kev)

ZHEUHE 2M2 o)l (3565% el Fteleh)

£xog ol%t

g

" 0

. -
T T
A1 « a7
3.565

dHes 71§ F2ch.(press reference key)

.

per]

X

3565

g

X

3565

gl

S HILLED)I7 HEE WA 7T EL 71508 98 F& QEROT oWy

(Move left or right until axis Lamp is ON)

v | | [ ] -
0 F

- n

ﬁa_g.;;/":m

3.565 4.780

41 -

X

4.180

g



2 ¥Z(LED)?t H$+ PRERCL 718 524, (el 727123 e] 54 HiE)
{when axis Lamp is ON, press “PRERCL" key)

3) 7189 H & 2=, (FIND reference point)

- - v ¥ n
u T « 1T
= |

p.2op  1.235

12. ¥#l5 WA 7]% (Resolution Conversion)

7] 49 wyle ogst g

XFunc no

7)0][0] XFnrno 700

XScALE ch

X a
FHgEEES) o X c

X ooos
o o]




1. /1000 #8& 14 24

[7][o][0]

2). 5/1000 ##%E A 44

XFunmc no
XFrno 100
XS5cRLE ch
X i
X /
X oot

L7]lo][e]

43 -




3). 5/100 2% A4 Wy

[F](x]

[7][e](0]

[5 1[0 |[ewr]

XFunc no
XFne 700
X5cALE ch
X J
X 50
X 0000

E)




A4%. %47 715 (EDM)
WAzl A AlEEE 2=(mode)eld ogE Fe FE AREdc

@ [EDM| 7] : 2.=(Mode) ¥4 A&l 7o)}
{use when mode change)

@ |AUTOJ7| : STEP 4d2 A8 @ o Agse 7ol
{use when input STEP)

@ [NEXT]7) : 1 STEP oAl th& STEP 2 2 STEP o4 @& 712A2127 @ 7230
AL &t Felt
(use when input NEXT STEP Number)

@ [ENT] 5] : | STEP~4 STEP7# Qg njan FTEY of ALgFo,
(use when completion of input)

@ 0~497r21g A 718 25H(=) 7] L RE(+/-) 7]

{Numeral key from 0~9, decimal point (=) key and (+/-) key)

1. 7Z|# 7] 2 9 4+ (key operating)
EDM 71, AUTO 7], NEXT 7], ENT 7], %2} 7], 253 7], %% 7|5 ol=lg 7]= 4%
#7157 sk

1) 7] : RE(Mode) MAAl AL 8 70|tk (use when MODE change)
EDM 7/ @ % ¥2% EDM Lampsl ZE®ch(oldzt EDM7 158 %
4 e et ach)
{when you press 1 time , EDM Lamp is ON)

oooo
L'"a> aooo
oooo

@E.EN <|[X

EDM 71§ 5 ¥ f29W EDM Lamp?} 422 8d (o|d EDM7I5E ¢ 5
gle AHzt Ad)

{when vou press EDM key 2 times, EDM Lamp is OFF

In this case, EDM function is not operative.)
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AUTO 7] - STEP 4el2 3¢ ¢ o A& 71oithuse when input STEP)
EDM Modes] M5t AH&% 7} glth.(use only at EDM Mode)
AUTO 718 ¥EW o33 £ gt
{when vou press AUTO key, shows below)

XSEEP .- |

> Yy 0000
z Coo00
=

g

HNEXTI#] : 1 STEP oM o2 STEP = 2 STEP &M & 7|gal#lnat & F5dH
AbEl= 7)ol (use when input next STEP number)
1 STEP~4 STEP7}] Y#€& vix|n 7h2& Astzia @ o AHgsis 7

olc}.
A 73 HAClA A2 uAD g HE AN olEste] HEEAR

g wf 2 M7 2 ARE ¥k (use RESET key, when you move to NEXT point)

NEXT 718 729 o7 o] H4.
(when vou press NEXT key, shows below)

NexT) XSLER - 2
@ Y oooo
Z onoo

.

e

<Fe> ZFH EA S @ol | STEP~4 STEPA d¥ ¢ @t T4 718 & dd o

atojopgt 2|4l F3te] o
<Nite> If Z-axis value less than the minimun value among the inputted value at

STEP1- STEP4 , RESET only can operative.

- 4B -




HENT]7] : | STEP~4 STEP7A wa e ohAn FRY o Aggc
(use when completion of input of STEF1~ STEP4 )

ENT ﬂﬂﬂﬂ
@ Gooo
0000

@E.gw <|[X

5 ®7 7], £%A 7], £ 7| 1 | STEP~4 STEPAM Zzte e YAss $150|0),
6) W7 ZR=(EDM MODE)A A 71 2€d EA5: e oot g
fat END Mode, counter display shows :)
X5 ¢ STEP | ~STEP 47179 #(Value from STEP1~4 )
Y& Z%oA =9 @& Fol ¥ #% % (Lowest value of Z-axis)
Z% . H15 o] F =AY °1F Z)(Electrode moving value)
T 48 Al Fo AbsHiwhen input, please note followings)
W& 3T AdYElE STEP | f=d H5g
{when you input ONE number, Lamp is ON at STEP - 1)
#e F e UYsd STEP 1 #=¢} STEP 29 f=o #Sgc}
{when you input 2 numbers, Lamp is ON at STEP! and 2)
# A e 983 STEP 1- STEP 3744 d=o 53
itg ul A8 AE3E STEP 1~ STEP 477 #xe 3S3c}
STEP 1~S8TEP 473 28 Moz 19 sxYolx a& oM 2 g M=
STEP 1~5TEFP 4713 A3 o=z 71gsAgc),
{memorize automatically in tum from Lower value to high value)
2. 9 %4 (output)
STEP 1~STEP 373 %7} 9 12 $¢ & ¥ 2883 v} STEP 4l M= 22 (A
=)9] gte] STEP 480 # AW AL Za3§c),
STEP 192t §l¥2ls 8o STEP 19 & o) #=d A& Fabsic)
(From STEP-1 until STEP-3, out put signal is activated one time during one(l)
secoond. At STEP-4, if Z-axis value(Electrode) is bigger than STEP-4, Continuousey
move)
STEP 5 71 ol4 ¥ #= Ao opzie STEPelME vlxe STEPE 2u #Axd
AL Fa@d
dilo] &8 %9 g, 0, §29 ol AHE wa ge=g.
(Relay output is not related with + value, 0, - value}

- 4T =




@ "&°l(RELAY TYPE)

RELAY

o

T_G .

o 2 NC ON
o 3 NO
O 4 COM OFF

@ 4 Z(SIGNAL TYPE)

o O 2 NC

T.RO —0 3 NO

SIGNAL IN

O O 4 COM

[STEP 1~~STEP 3) [STEP 4]
OFF
T=1SEC STEP4 < Z &
[STEP 1~~STEP 3] [STEP 4)
T ON e
OFF OFF
T=1SEC STEPA ¢« Z &

3. 7] 919 9y 2@ o F(Key Input and Example)

7] 919 Wy o3 o) (key operating)

)

o
®>

X 00860

Y o066

Z 0060

P

X SEEP - |
o000
ao0o
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Il -

Gooo

X SEEFP

aooa

ERE

Ehs)

0000

C3

C

oooo

ENT

fet

C3

i
oooo

C

g o

— 49




8 1) oE g o) vH 7FE

LS g =2 E 7 aid

231 § o} (Example of EDM operation)

STEP1 — &
STEP2 — 10
STEP3 — 15
STEP4 — 20

X T
Y 8000
Z aooa
XSLEP .- |
8000
oooo

B




wex[ 1 ][0 ]

mextl [ 1 ][5 ]

pext][2 ][]

WX SEEP = ¢

_l:"]

Y 10000
pa oo
XSEEFP - 3
Y 18000
z oo
XSEEP .- Y
Y caool
.o 0006

e
EDM

B>

X 5000
Y G000
z 0000|
® & @ & @
[Eoufrerffrerffresdfrend

E)



%)

X 8000
Y aooo
Z oooo

e @& o o @
[Eoulfrenfirndfrerifres

B

eXSeol HAHE & STEP 19 7194212 ez 2y go] 713 & AlAste Z%
(M=) gto] X292 gxch AAASIA STEP 1old 3 s &% o] @45l STEP 29
Zto] AlE Mo g Nae FAEY STEPI] #iE2} OFFH,
ol#% Wy o STEP 4742 ALse 7HEstdl 18] 7Fe] Fvich old AL 71
2 oj# ciA] & o vpEsiH D 3 of STEP 4945 280 walaxn LAMPE &%
2 #ged
(If STEP-1 value at X axis will be bigger than Z axis value, 1st output signal is
activated, at the same, STEP-2 value is automatically indicated, STEP-1 EDM lamp
is OFF.
With this method, vou continue process until STEP-4, onell) time process is
finished {When wvou process again for the accurate processing, output signal is
activated only at STEP-4 opsition)

When vou start to process again from other processing point after move Electrode,
yvou must start only after press NEXT key.)

et} JtFHOR olFdlo] WHIEEL ALHE A Adsidin ¥ @ NEXT7# @

=4l $23 Aztsjel ok a2W STEPS 7194412l gho] Xl BAIE™ STEP ¥
Zo| #eo] BEHcH aHY 25 o] STEP 19 7| =o e gtk Hojept #r}

eSTEP lefl®t dstein & A% STEP 14 #£A& A& ENTIE w24 254

o8 STEP 2~STEP 47t# STEP 18 §eo] 7|9 €ch(STEP 2 & STEP 14t #
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A6%. = 2§ Y9 (Fuse change)
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33 Y
110V v~ 220V
(RATED VOLTAGE)

= 49
250V 1A

[FUSE CAPACITIY]



A7E. FIEHS 249 I&EE 2 49 WE

(Connection drawing of Counter and scale, pin assignment)

SCALE
1 RED [+] +5V
% ® 2 YELLOW [A) +4.2¥
i ////////__ 3 WHITE  [B]+4.2V
S~ ! GREEN (2] +0.4V
@ 5 pLack [ +0v
6 BLUE [GND)
¥ 2WHEJ| % (EDM Signal)
) 83 83 84 85 8, 07 0F @] &9 08 o4 og of 0oF 0f
C‘\ sg e|g =] -12-13-14-13/0 O\ °f 210 °11 mﬂmﬂuﬂu/c'
COUNTER (female) — 3|26 CABLE (male)— M5 M
2PIN:A —— YELLOW (:=S4) 2 PIN : A —— WHITE (214)
3IPIN:B —— RED (%1 44) JPIN:B GREEN(=%)
4PIN: COM— WHITE (&) 4 PIN : COM — BLACK(ZE )
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A = »n F= A
WARRANTY CERTIFICATE

L 2de EM71AW gl gt selsics A8 cpsate Holyy

This certificate must be provided upon request in the case of a service
2 24FY B3y 0e FRdEsE 249 Yy,

Warranty period will be 2 years from the date of delivery
3 B37I el el M F45EE wod HS 92NE AgeAa,

Az Aol olzste] F44 8,

This warranty does not cover damage caused by irregular using of the system,
not according to our instruction by our operation manual,
4 AddEM EqEreld Se FeMo wel PAHo AFHEHE
2ol WE AL, AzdAde T4 Fd =Py}
This warranty does not cover damage caused by modifications or repair works
made by person other than authorized personnel,
(wApg xR o] HTele WY T P& H7e 28 9 S8 § A7)
(% Remark ' In case of default caused by mis-use of the end-users. we charge vou
material cost of defected parts and repairing cost)

PRODUCT
A4 =y JENIX DIGITAL READOUT SYSTEM
MODEL N '
IMANUFACTURED DATE
#H ==}
DATE OF PURCHASE
7419 2
COMPANY NAME |‘TELEPHDNE | .
CUSTOMER (% & My
| ADDRESS |
= & |
e l
NAME iTELEPI{DNE |
DEALER G inds ‘
] ADDRESS
3 2

DONG SAHN JENIX CO.LTD.

b i e s o

285-1, Kung-Dong, Kuro-Ku,
SEOQOUL, KOREA
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Tel : 02)2625 - 2222 ~ 7
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